Monday 30'™ March _"_

Good Morning Class Three. /1 \

We hope you have all had good weekend and enjoyed the
sunshine!

Maths
* Please spend 15 minutes on TTRS practising your times tables.

« Today, we will be practising reading and writing analogue and digital
times. I would like everyone to have a go at questions 1-3 and, if you
are feeling up to the challenge, answer some or all of questions 4-8.

« If you have time, log into Activelearn and play the game ‘Marching
Madness'.

English - 'The Magnificent Bull’

Please click on the following link to listen to a traditional African poem

from the Dinka Tribe: https://www.bbc.co.uk/programmes/p011mvijh

Scroll down o answer the questions about the poem in your books.
All answers will be posted on the class page tomorrow so you can mark
your work - no need o send photos this time,
Best wishes

Mrs Raper and Mrs Langton


https://www.bbc.co.uk/programmes/p011mvjh

1. What time 1s showing on these clock faces?
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2. Draw the hands on the clock face to show the times shown on
the digital clocks.




3. Match the analogue clock faces and digital times.

1:20

5:55

915

N,
(s e | { 7:35
o8 5 }.-'

710

5:25

2:45

11:05

L N N N S N W




4. Sophie arrives at Brentwood train station and 27 12

looks at her watch. What time did she arrive at /{10 J 2
the station? [ | 9
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5. Her train to London will arrive in 20 minutes.

Show what time her train is due to arrive on ﬁ
Sophie's watch. 10
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6. The journey to London lasts 35 minutes. —

What time will Sophie arrive in London?

7. Use this information to complete the train timetable.

Brentwood to London

Depart Brentwood Arrive London
11:40
1:00
1-20
2:50
4:20

8. Each train arrives in London 20 minutes late. Draw the time that each
train arrives in London on the clock faces below:

- - . o - — _-_____':‘-\-.
___-"'j-"’ 11 12’ 1“"\\. -‘_.-'f_.-" 11 12 1“"\\. "':"-"".T‘Ih 12 1‘“‘:‘:\.\_& "'j:‘" 11 12 1“"‘\"\- "'-'_,:-'-"" i1 12 1‘“‘:“\:\-\
{10 2 {10 244 f10 2 Ty 24 F10 24
I i Ll I i L L I i L L
9 0 3 || I 9 0 3 || 9 o 3| I 9 0 3 || 9 0 3|
II I| II I| / | I 1 II I| 1 | I 1



